I need help with problems.

Question 1  4 points    Save
  The probability that house sales will increase in the next 6 months is 
estimated to be 0.25. The probability that the interest rates on housing 
loans will go up in the same period is estimated to be 0.74. The probability 
that house sales or interest rates will go up during the next 6 months is 
estimated to be 0.89. The events of increase in house sales and increase in 
interest rates in the next 6 months are
    statistically independent.
   mutually exclusive.
   collectively exhaustive.
   None of the above.



   Question 2  4 points    Save
  A company has 2 machines that produce widgets. An older machine produces 
23% defective widgets, while the new machine produces only 8% defective 
widgets. In addition, the new machine produces 3 times as many widgets as 
the older machine does. What is the probability that a randomly chosen 
widget produced by the company is defective?
    0.078
   0.1175
   0.156
   0.310



   Question 3  4 points    Save
  According to a survey of American households, the probability that the 
residents own 2 cars if annual household income is over $25,000 is 80%. Of 
the households surveyed, 60% had incomes over $25,000 and 70% had 2 cars. 
The probability that the residents of a household do not own 2 cars and have 
an income over $25,000 a year is:
    0.12
   0.18
   0.22
   0.48



   Question 4  4 points    Save
  If two events are independent, what is the probability that they both 
occur?
    0.
   0.50.
   1.00.
   Cannot be determined from the information given.



   Question 5  4 points    Save
  Mothers Against Drunk Driving is a very visible group whose main focus is 
to educate the public about the harm caused by drunk drivers. A study was 
recently done that emphasized the problem we all face with drinking and 
driving. Four hundred accidents that occurred on a Saturday night were 
analyzed. Two items noted were the number of vehicles involved and whether 
alcohol played a role in the accident.

Referring to TABLE 4-1, what proportion of accidents involved alcohol and a 
single vehicle?



    25/400 or 6.25%
   50/400 or 12.5%
   195/400 or 48.75%
   245/400 or 61.25%



   Question 6  4 points    Save
  If the outcome of event A is not affected by event B, then events A and B 
are said to be
    mutually exclusive.
   statistically independent.
   collectively exhaustive.
   None of the above.



   Question 7  4 points    Save
  If two events are mutually exclusive and collectively exhaustive, what is 
the probability that one or the other occurs?
    0.
   0.50.
   1.00.
   Cannot be determined from the information given.



   Question 8  4 points    Save
  The probability that house sales will increase in the next 6 months is 
estimated to be 0.25. The probability that the interest rates on housing 
loans will go up in the same period is estimated to be 0.74. The probability 
that house sales or interest rates will go up during the next 6 months is 
estimated to be 0.89. The probability that both house sales and interest 
rates will increase during the next 6 months is:
    0.10
   0.185
   0.705
   0.90



   Question 9  4 points    Save
  For some positive value of Z, the probability that a standard normal 
variable is between 0 and Z is 0.3770. The value of Z is
    0.18
   0.81
   1.16
   1.47



   Question 10  4 points    Save
  The probability that a standard normal random variable, Z, is between 1.00 
and
3.00 is 0.1574.
   True
  False



   Question 11  4 points    Save
  Given that X is a normally distributed random variable with a mean of 50 
and a standard deviation of 2, find the probability that X is between 47 and 
54.
    1.246
   0.9104
   0.5846
   0.1564



   Question 12  4 points    Save
  The probability that a standard normal random variable, Z, falls between - 
1.50 and 0.81 is 0.7242.
   True
  False



   Question 13  4 points    Save
  If a particular batch of data is approximately normally distributed, we 
would find that approximately
    2 of every 3 observations would fall between ± 1 standard deviation 
around the mean.
   4 of every 5 observations would fall between ± 1.28 standard deviations 
around the mean.
   19 of every 20 observations would fall between ± 2 standard deviations 
around the mean.
   All the above.



   Question 14  4 points    Save
  A company that sells annuities must base the annual payout on the 
probability distribution of the length of life of the participants in the 
plan. Suppose the probability distribution of the lifetimes of the 
participants is approximately a normal distribution with a mean of 68 years 
and a standard deviation of 3.5 years. Find the age at which payments have 
ceased for approximately 86% of the plan participants.
    72.12
   45.26
   71.78
   62.42



   Question 15  4 points    Save
  If we know that the length of time it takes college students to park their 
cars follows a normal distribution with a mean of 3.5 minutes and a standard 
deviation of 1 minute, find the point in the distribution in which 75.8% of 
the college students exceed when trying to find a parking spot in the 
library parking lot.
    2.8 minutes
   3.2 minutes
   3.4 minutes
   4.2 minutes



   Question 16  4 points    Save
  Scientists in the Amazon are trying to find a cure for a deadly disease 
that is attacking the rain forests there. One of the variables that the 
scientists have been measuring involves the diameter of the trunk of the 
trees that have been affected by the disease. Scientists have calculated 
that the average diameter of the diseased trees is 42 centimeters. They also 
know that approximately 95% of the diameters fall between 32 and 52 
centimeters and almost all of the diseased trees has diameters between 27 
and 57 centimeters. When modeling the diameters of diseased trees, which 
distribution should the scientists use?
    Poisson distribution
   Binomial distribution
   Normal distribution
   Cumulative distribution



   Question 17  4 points    Save
  The owner of a fish market determined that the average weight for a 
catfish is 3.2 pounds with a standard deviation of 0.8 pound. Assuming the 
weights of catfish are normally distributed, the probability that a randomly 
selected catfish will weigh between 3 and 5 pounds is _______?
    0.1246
   0.5546
   0.5865
   0.6548



   Question 18  4 points    Save
  Suppose that the number of airplanes arriving at an airport per minute is 
a Poisson process. The average number of airplanes arriving per minute is 3. 
The probability that exactly 6 planes arrive in the next minute is 0.0504.
   True
  False



   Question 19  4 points    Save
  The diameters of 10 randomly selected bolts have a binomial distribution.
   True
  False



   Question 20  4 points    Save
  If p remains constant in a binomial distribution, an increase in n will 
not change the mean.
   True
  False



   Question 21  4 points    Save
  The number of customers arriving at a department store in a 5-minute 
period has a binomial distribution.
   True
  False



   Question 22  4 points    Save
  In a binomial distribution
    the random variable X is continuous.
   the probability of success p is stable from trial to trial.
   the number of trials n must be at least 30.
   the results of one trial are dependent on the results of the other 
trials.



   Question 23  4 points    Save
  A lab orders 100 rats a week for each of the 52 weeks in the year for 
experiments that the lab conducts. Suppose the mean cost of rats used in lab 
experiments turned out to be $13.00 per week. Interpret this value.
    Most of the weeks resulted in rat costs of $13.00.
   The median cost for the distribution of rat costs is $13.00.
   The expected or average cost for all weekly rat purchases is $13.00.
   The rat cost that occurs more often than any other is $13.00.



   Question 24  4 points    Save
  The number of customers arriving at a department store in a 5-minute 
period has a Poisson distribution.
   True
  False



   Question 25  4 points    Save
  An insurance company has called a consulting firm to determine if the 
company has an unusually high number of false insurance claims. It is known 
that the industry proportion for false claims is 3%. The consulting firm has 
decided to randomly and independently sample 100 of the company's insurance 
claims. They believe the number of these 100 that are false will yield the 
information the company desires. What type of probability distribution will 
the consulting firm most likely employ to analyze the insurance claims?
    binomial distribution.
   Poisson distribution.
   cumulative distribution.
   none of the above.

Question 1  4 points    Save
  Which of the following would be an appropriate null hypothesis?
    The population proportion is less than 0.65.
   The sample proportion is less than 0.65.
   The population proportion is less than or equal to 0.65.
   The sample proportion is less than or equal to 0.65.



   Question 2  4 points    Save
  Which of the following statements is NOT true about the level of 
significance in a hypothesis test?
    The larger the level of significance, the more likely you are to reject 
the null hypothesis.
   The level of significance is the maximum risk we are willing to accept in 
making a Type I error.
   The significance level is also called the á level.
   The significance level is another name for Type II error.



   Question 3  4 points    Save
  For a given sample size n, if the level of significance (  ) is decreased, 
the power of the test



    will increase.
   will decrease.
   will remain the same.
   cannot be determined.



   Question 4  4 points    Save
  If the Type I error,  (alpha) for a given test is to be decreased, then 
for a fixed sample size n

    the Type II error (  ) will also decrease.
   the Type II error (  ) will increase.
   the power of the test will increase.
   a one-tailed test must be utilized.



   Question 5  4 points    Save
  For a given level of significance, if the sample size is increased, the 
power of the test will increase.
   True
  False



   Question 6  4 points    Save
  Which of the following would be an appropriate null hypothesis?
    The mean of a population is equal to 55.
   The mean of a sample is equal to 55.
   The mean of a population is greater than 55.
   The mean of a sample is greater than 55.



   Question 7  4 points    Save
  Which of the following would be an appropriate alternative hypothesis?
    The population proportion is less than 0.65.
   The sample proportion is less than 0.65.
   The population proportion is not less than 0.65.
   The sample proportion is not less than 0.65.



   Question 8  4 points    Save
  For a given level of significance, if the sample size is increased, the 
probability of committing a Type II error will increase.
   True
  False



   Question 9  4 points    Save
  The value that separates a rejection region from a non-rejection region is 
called the _______.
    significance level
   critical value
   test statistic
   parameter



   Question 10  4 points    Save
  Why is the Central Limit Theorem so important to the study of sampling 
distributions?
    It allows us to disregard the size of the sample selected when the 
population is not normal.
   It allows us to disregard the shape of the sampling distribution when the 
size of the population is large.
   It allows us to disregard the size of the population we are sampling 
from.
   It allows us to disregard the shape of the population when n is large.



   Question 11  4 points    Save
  As the sample size increases, the standard error of the mean increases.
   True
  False



   Question 12  4 points    Save
  For sample sizes greater than 30, the sampling distribution of the mean 
will be approximately normally distributed
    regardless of the shape of the population.
   only if the shape of the population is symmetrical.
   only if the standard deviation of the samples are known.
   only if the population is normally distributed.



   Question 13  4 points    Save
  If the population distribution is symmetric, the sampling distribution of 
the mean can be approximated by the normal distribution if the samples 
contain at least 15 observations.
   True
  False



   Question 14  4 points    Save
  If the population distribution is unknown, in most cases the sampling 
distribution of the mean can be approximated by the normal distribution if 
the samples contain at least 30 observations.
   True
  False



   Question 15  4 points    Save
  If the amount of gasoline purchased per car at a large service station has 
a population mean of $15 and a population standard deviation of $4 and it is 
assumed that the amount of gasoline purchased per car is symmetric, there is 
about a 68% chance that a random sample of 16 cars will have a sample mean 
between $14 and $16.
   True
  False



   Question 16  4 points    Save
  The owner of a fish market has an assistant who has determined that the 
weights of catfish are normally distributed, with mean of 3.2 pounds and 
standard deviation of 0.8 pound. If a sample of 25 fish yields a mean of 3.6 
pounds, what is the Z-score for this observation?
    18.750
   2.500
   1.875
   0.750



   Question 17  4 points    Save
  Sales prices of baseball cards from the 1960s are known to possess a 
skewed-right distribution with a mean sale price of $5.25 and a standard 
deviation of $2.80. Suppose a random sample of 100 cards from the 1960s is 
selected. Describe the sampling distribution for the sample mean sale price 
of the selected cards.
    Skewed-right with a mean of $5.25 and a standard error of $2.80
   Normal with a mean of $5.25 and a standard error of $0.28
   Skewed-right with a mean of $5.25 and a standard error of $0.28
   Normal with a mean of $5.25 and a standard error of $2.80



   Question 18  4 points    Save
  Suppose a 95% confidence interval for µ has been constructed. If it is 
decided to take a larger sample and to decrease the confidence level of the 
interval, then the resulting interval width would. (Assume that the sample 
statistics gathered would not change very much for the new sample.)
    be larger than the current interval width
   be narrower than the current interval width
   be the same as the current interval width
   be unknown until actual sample sizes and reliability levels were 
determined



   Question 19  4 points    Save
  Given a sample mean of 2.1 and a population standard deviation of 0.7 from 
a sample of 10 data points, a 90% confidence interval will have a width of 
2.36.
   True
  False



   Question 20  4 points    Save
  A university dean is interested in determining the proportion of students 
who receive some sort of financial aid. Rather than examine the records for 
all students, the dean randomly selects 200 students and finds that 118 of 
them are receiving financial aid. If the dean wanted to estimate the 
proportion of all students receiving financial aid to within 3% with 99% 
reliability, how many students would need to be sampled?
    n = 1,844
   n = 1,784
   n = 1,503
   n = 1,435



   Question 21  4 points    Save
  Charities rely on money contributed by individuals and corporations for 
their operating expenses. Sometimes this money is put into a fund called an 
endowment, and the charity spends only the interest earned on these funds. A 
survey of 8 charities revealed the following endowments (in millions of 
dollars): 60.2, 47.0, 235.1, 490.0, 122.6, 177.5, 95.4, and 220.0. What 
value should you use as the point estimate for the mean endowment?
    $148
   $181
   $143
   $180



   Question 22  4 points    Save
  The width of a confidence interval estimate for a proportion will be
    narrower for 99% confidence than for 95% confidence.
   wider for a sample size of 100 than for a sample size of 50.
   narrower for 90% confidence than for 95% confidence.
   narrower when the sample proportion is 0.50 than when the sample 
proportion is 0.20.



   Question 23  4 points    Save
  An economist is interested in studying the incomes of consumers in a 
particular region. The population standard deviation is known to be $1,000. 
A random sample of 50 individuals resulted in an average income of $15,000. 
What is the upper end point in a 99% confidence interval for the average 
income?
    $15,052
   $15,141
   $15,330
   $15,364



   Question 24  4 points    Save
  A confidence interval was used to estimate the proportion of statistics 
students that are female. A random sample of 72 statistics students 
generated the following 90% confidence interval: (0.438, 0.642). Using the 
information above, what size sample would be necessary if we wanted to 
estimate the true proportion to within ±0.08 using 95% confidence?
    105
   150
   420
   597



   Question 25  4 points    Save
  Suppose a 95% confidence interval for µ turns out to be (1,000, 2,100). 
Give a definition of what it means to be "95% confident" in an inference.
    In repeated sampling, the population parameter would fall in the given 
interval 95% of the time.
   In repeated sampling, 95% of the intervals constructed would contain the 
population mean.
   95% of the observations in the entire population fall in the given 
interval.
   95% of the observations in the sample fall in the given interval.
Question 1  4 points    Save
  TABLE 10-4. A real estate company is interested in testing whether, on 
average, families in Gotham have been living in their current homes for less 
time than families in Metropolis have. Assume that the two population 
variances are equal. A random sample of 100 families from Gotham and a 
random sample of 150 families in Metropolis yield the data on length of 
residence in current homes. Referring to Table 10-4, what is(are) the 
critical value(s) of the relevant hypothesis test if the level of 
significance is 0.05?

    t . Z = - 1.645
   t . Z = ± 1.96
   t . Z = - 1.96
   t . Z = - 2.080



   Question 2  4 points    Save
  TABLE 10-5. To test the effectiveness of a business school preparation 
course, 8 students took a general business test before and after the course. 
Referring to Table 10-5, what is the critical value for testing at the 5% 
level of significance whether the business school preparation course is 
effective in improving exam scores?

    2.365
   2.145
   1.761
   1.895



   Question 3  4 points    Save
  TABLE 10-4. A real estate company is interested in testing whether, on 
average, families in Gotham have been living in their current homes for less 
time than families in Metropolis have. Assume that the two population 
variances are equal. A random sample of 100 families from Gotham and a 
random sample of 150 families in Metropolis yield the data on length of 
residence in current homes. Referring to Table 10-4, what is the estimated 
standard error of the difference between the 2 sample means?

    4.06
   5.61
   8.01
   16.00



   Question 4  4 points    Save
  TABLE 10-2. Referring to Table 10-2, the researcher was attempting to show 
statistically that the female MBA graduates have a significantly lower mean 
starting salary than the male MBA graduates. From the analysis in Table 
10-2, the correct test statistic is:

    0.0860
   - 1.4019
   - 1.7011
   - 6,733.33



   Question 5  4 points    Save
  In testing for the differences between the means of two related 
populations, the _______ hypothesis is the hypothesis of "no differences."
    null
   sample
   experiment
   first



   Question 6  4 points    Save
  The t test for the difference between the means of 2 independent 
populations assumes that the respective
    sample sizes are equal.
   sample variances are equal.
   populations are approximately normal.
   All of the above.



   Question 7  4 points    Save
  TABLE 10-5. To test the effectiveness of a business school preparation 
course, 8 students took a general business test before and after the course. 
Referring to Table 10-5, the value of the sample mean difference is _______ 
if the difference scores reflect the results of the exam after the course 
minus the results of the exam before the course.

    0
   50
   68
   400



   Question 8  4 points    Save
  In what type of test is the variable of interest the difference between 
the values of the observations rather than the observations themselves?
    A test for the equality of variances from 2 independent populations.
   A test for the difference between the means of 2 related populations.
   A test for the difference between the means of 2 independent populations.
   All of the above.



   Question 9  4 points    Save
  TABLE 10-3. The use of preservatives by food processors has become a 
controversial issue. Suppose 2 preservatives are extensively tested and 
determined safe for use in meats. A processor wants to compare the 
preservatives for their effects on retarding spoilage. Suppose 15 cuts of 
fresh meat are treated with preservative A and 15 are treated with 
preservative B, and the number of hours until spoilage begins is recorded 
for each of the 30 cuts of meat. Referring to Table 10-3, state the test 
statistic for determining if the population variances differ for 
preservatives A and B.



    F = - 3.10
   F = 0.5908
   F = 0.7687
   F = 0.8250



   Question 10  4 points    Save
  Given the following information, calculate the degrees of freedom that 
should be used in the pooled-variance t test.

    df = 41
   df = 39
   df = 16
   df = 25



   Question 11  4 points    Save
  In testing for the differences between the means of 2 independent 
populations where the variances in each population are unknown but assumed 
equal, the degrees of freedom are
    n - 1.
    +  - 1.



      +  - 2.
   n - 2.



   Question 12  4 points    Save
  The F test used for testing the difference in two population variances is 
always a one-tailed test.
   True
  False



   Question 13  4 points    Save
  TABLE 10-4. A real estate company is interested in testing whether, on 
average, families in Gotham have been living in their current homes for less 
time than families in Metropolis have. Assume that the two population 
variances are equal. A random sample of 100 families from Gotham and a 
random sample of 150 families in Metropolis yield the data on length of 
residence in current homes. Referring to Table 10-4, what is(are) the 
critical value(s) of the relevant hypothesis test if the level of 
significance is 0.01?

    t . Z = - 1.96
   t . Z = ± 1.96
   t . Z = - 2.080
   t . Z = - 2.33



   Question 14  4 points    Save
  The chi-squared distribution is:
    right-skewed
   left-skewed
   symmetric
   binomial



   Question 15  4 points    Save
  The Marascuilo procedures is an example of a _____ test.
    a priori
   ad hoc
   post hoc
   post mortem



   Question 16  4 points    Save
  TABLE 11-4. One criterion used to evaluate employees in the assembly 
section of a large factory is the number of defective pieces per 1,000 parts 
produced. The quality control department wants to find out whether there is 
a relationship between years of experience and defect rate. Since the job is 
repetitious, after the initial training period any improvement due to a 
learning effect might be offset by a loss of motivation. A defect rate is 
calculated for each worker in a yearly evaluation. The results for 100 
workers are given in the table below.

Referring to Table 11-4, find the rejection region necessary for testing at 
the 0.05 level of significance whether there is a relationship between 
defect rate and years of experience.



    Reject H0 if chi-square > 16.919
   Reject H0 if chi-square > 15.507
   Reject H0 if chi-square > 11.143
   Reject H0 if chi-square > 9.488



   Question 17  4 points    Save
  TABLE 11-2. Many companies use well-known celebrities as spokespersons in 
their TV advertisements. A study was conducted to determine whether brand 
awareness of female TV viewers and the gender of the spokesperson are 
independent. Each in a sample of 300 female TV viewers was asked to identify 
a product advertised by a celebrity spokesperson. The gender of the 
spokesperson and whether or not the viewer could identify the product was 
recorded.

Referring to Table 11-2, the calculated test statistic is



    -0.1006
   0.00
   5.9418
   6.1194



   Question 18  4 points    Save
  In a 2 x c contingency table, there will be c - 1 degrees of freedom.
   True
  False



   Question 19  4 points    Save
  TABLE 11-1. A study published in the American Journal of Public Health was 
conducted to determine whether the use of seat belts in motor vehicles 
depends on ethnic status in San Diego County. A sample of 792 children 
treated for injuries sustained from motor vehicle accidents was obtained, 
and each child was classified according to (1) ethnic status (Hispanic or 
non-Hispanic) and (2) seat belt usage (worn or not worn) during the 
accident.

Referring to Table 11-1, the calculated test statistic is



    -0.9991
   -0.1368
   48.1849
   72.8063



   Question 20  4 points    Save
  When using the chi-square test for independence, one should be aware that 
expected frequencies that are too small will lead to too big a Type I error.
   True
  False



   Question 21  4 points    Save
  TABLE 11-2. Many companies use well-known celebrities as spokespersons in 
their TV advertisements. A study was conducted to determine whether brand 
awareness of female TV viewers and the gender of the spokesperson are 
independent. Each in a sample of 300 female TV viewers was asked to identify 
a product advertised by a celebrity spokesperson. The gender of the 
spokesperson and whether or not the viewer could identify the product was 
recorded.

Referring to Table 11-2, the degrees of freedom of the test statistic are



    1
   2
   4
   299



   Question 22  4 points    Save
  In testing the difference between two proportions using the normal 
distribution, we may use either a one-tailed Chi-square test or two-tailed Z 
test.
   True
  False



   Question 23  4 points    Save
  TABLE 11-4. One criterion used to evaluate employees in the assembly 
section of a large factory is the number of defective pieces per 1,000 parts 
produced. The quality control department wants to find out whether there is 
a relationship between years of experience and defect rate. Since the job is 
repetitious, after the initial training period any improvement due to a 
learning effect might be offset by a loss of motivation. A defect rate is 
calculated for each worker in a yearly evaluation. The results for 100 
workers are given in the table below.

Referring to Table 11-4, a test was conducted to determine if a relationship 
exists between defect rate and years of experience. Which of the following p 
values would indicate that defect rate and years of experience are 
dependent? Assume you are testing at alpha = 0.05.



    0.045
   0.055
   0.074
   0.080



   Question 24  4 points    Save
  If we wish to determine whether there is evidence that the proportion of 
successes is the same in group 1 as in group 2, the appropriate test to use 
is
    the Z test.
   the chi-square test.
   Both of the above.
   None of the above.



   Question 25  4 points    Save
  TABLE 11-3. A computer used by a 24-hour banking service is supposed to 
randomly assign each transaction to one of 5 memory locations. A check at 
the end of a day's transactions gave the counts shown in the table to each 
of the 5 memory locations, along with the number of reported errors.

Referring to Table 11-3, the degrees of freedom of the test statistic is



    4
   8
   10
   448

